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1. (15%)The Morton Company processes unprocessed goat milk up to the splitoff point where
two products, condensed goat milk and skim goat milk result. The following information

was collected for the month of Qctober:
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Direct Materials processed: 10,000 gallons (shrinkage was 10%)

Production: condensed goat milk 3,000 gallons
skim goat milk 6,000 gallons
Sales: - condensed goat milk  $3 per gallon
skim goat milk $2 per gallon

The costs of purchasing the 10,000 gallons of unprocessed goat milk and processing it
up to the splitoff point to yield a total of 9,000 gallons of salable product was $21,000.

There were no inventory balances of either product.

Condensed goat milk may be processed further to yield 2,000 gallons (the remainder 1s
shrinkage) of a medicinal milk product, Xyla, for an additional processing cost of $3 per

usable gallon. Xyla can be sold for $18 per gallon.

Skim goat milk can be processed further to yield 5,000 gallons of skim goat ice cream,
for an additional processing cost per usable gallon of $2. The product can be sold for $9

per gallon.
There are no beginning and ending inventory balances.

What is the estimated net realizable value of Xyla at the splitoff point?

Using estimated net realizable value, what amount of the $21,000 of joint costs would be
allocated Xyla and the skim goat ice cream?

Using the sales value at splitoff method, what is the gross-margin percentage for
condensed goat milk at the splitoff point?

How much (if any) extra income would Morton earn if it produced and sold all of the
Kyla from the condensed goat milk? Allocate joint processing costs based upon relative
sales value on the splitoff.  (Extra income means income in excess of what Morton

would have earned from selling condensed goat milk.)
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2. (21%)A distraught employee, Fang W. Arson, put a torch to a manufacturing plant on a
blustery February 26. The resulting blaze destroyed the plant and its contents. Fortunately,
certain accounting records were dept in another building. They reveal the following for the

period from January 1, 2004, to February 26, 2004:

Direct materials purchased $1 60,0@
Work in process, 1/1/2004 $34,000
Direct materials, 1/ 1/\2004 $16,000
Finished goods, 1/1/2004 $30,000
Indirect manufacturing costs 40% of conversion costs
Revenues $500,000
Direct manufacturing labor $180,000
Prime costs $294,000
Gross margin percentage based on revenues 20%
Cost of goods available for sale $450,000

The loss is fully covered by insurance. The insurance company wants to know the historical
cost of the inventories as a basis for -negotiating a settlement, although the settlement is
actually to be based on replacement cost, not historical cost. Calculate the cost of :

(1) Finished goods inventory, 2/26/2004
(2) Work-in-process inventory, 2/26/2004
(3) Direct materials inventory, 2/26/2004
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AW $3,250,000 1,500 92,000 10,000
R $750,000 11,500 418,000 40,000
8B RA $16,000,000 123,500 1,400,000 120,000
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